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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities not affiliated with the state tournament, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.
Agha Mohammad Yahya Khan and Zia [ZEE-uh] ul-Haq [uhl-HAWK] have been among the rulers of this country. Choudhary [CHOW-dah-ree] Rahmat Ali proposed its name in 1933 as an acronym of the Muslim homelands in South Asia. What is this country that lost its eastern part, now called Bangladesh, in a 1971 war and nearly came to war with India in 2002?

ANSWER: Pakistan
2.
The most abundant element in the solar system by far is what element that makes up most of the mass of the gas giant planets and the Sun?

ANSWER: Hydrogen
3.
THIS IS A COMPUTATION QUESTION. The fine for speeding is found using the formula s + 3n [s plus three times n], where s is the speed limit in miles per hour, and n is the number of miles per hour over the speed limit. If going 16 miles over the speed limit results in a fine of $88, what is the speed limit?

ANSWER: 40 (40 + 3 * 16 --> 40 + 48 --> 88)

4.  One of these animals killed Hyas, the son of Atlas, during a hunt.  Another was sent by Zeus to kill Attis, and still another was responsible for the death of Adonis.  Artemis sent one to prevent Calydonia from being farmed, but Atalanta led a hunt to kill it.  Also a symbol of the Chinese zodiac, identify this porcine animal that also plays a part in one of Heracles' twelve labors.

ANSWER: boar (prompt on "pig" or "hog")

5.
His nonfiction works include The Science of Life and The Outline of History. Another nonfiction work was Anticipations, which led to his joining the socialist Fabian Society in London. Who is this author who may be better known for his fiction such as The Time Machine and The War of the Worlds?

ANSWER: Herbert George (H.G.) Wells
6.
It is located at the entrance to Guanabara [gwah-nah-BAH-rah] Bay and its Portuguese discoverers thought it was at the entrance to a river, hence its name. What is this city, the home to Copacabana and Ipanema [ee-pah-NEE-mah] public beaches, the former capital of Brazil?

ANSWER: Rio de Janeiro [ZHAH-nay-roh] (prompt on "Rio")

7.
This diploid cell requires two people to create it and soon divides into a 16-cell morula [MORE-yoo-luh]. What is this cell that forms when a sperm fertilizes an egg?

ANSWER: zygote
8.  The hot colors of red and orange dominate the background of this painting, but the lone figure is dressed in blue in the foreground. Many flowers can be seen at both left and right, including roses as a garland on the figure's head. Identify this 1905 painting rendered during the Rose Period of Pablo Picasso, which in May 2004 became the first painting to sell at auction for over $100 million.

ANSWER: Boy with a Pipe (or Garcon a la pipe)

9.  This American author was a perennial bohemian whose works were considered obscene because of their sexual frankness. Many of his works were smuggled into the United States from France. Name this writer whose works include Black Spring, Tropic of Cancer, and Tropic of Capricorn.

ANSWER: Henry Miller (prompt on Miller)

10.   He is known by some for his work Worlds in the Making, published in 1908, in which he supported the theory that life on Earth and throughout the universe originated from living spores traveling through outer space. However, he is better known for his theory of electrolytic dissociation, or ionization. Name this Swedish chemist.

ANSWER: Svante August Arrhenius (ah-RAY-nee-us)

11.  Rob Brown, who played basketball player Jamal Wallace in Finding Forrester, demonstrates his wide acting range in this film as basketball player Kenyon Stone.  Based on the story of a sporting goods store owner who returns to his alma mater in Richmond, California, it co-stars pop singer Ashanti.  Identify this 2005 film in which the title character, played by Samuel L. Jackson, locks out his players from the gym because they did not get good enough grades. 

ANSWER: Coach Carter
12.
Unlike their larger cousins, they do not have protein coats. They consist of single strands of RNA and cause diseases in plants such as potatoes and cucumbers. What are these much smaller cousins of viruses?

ANSWER: viroids (do not accept viruses or prions)

13.  In the sentence "I have lost faith in my hunch," what type of verb is the word have?

ANSWER: auxiliary verb or helping verb (do not accept linking verb or copula)

14.  Then-Secretary of State William Marcy gave the order, and three American ambassadors to Europe, John Y. Mason, Pierre Soulé [soo-LAY] and James Buchanan, devised the plan. The plan was sent back to the State Department, but news of it leaked, outraging Northerners opposed to the spread of slavery. What was this plan, hatched in 1854, to buy Cuba for $120 million or conquer it?

ANSWER: Ostend Manifesto

15.  One of its members, Jamie Gorelick [goh-reh-LICK], came under fire from conservatives for her work in the Clinton Administration’s Justice Department. Former Senators Bob Kerrey and Slade Gorton were also members of – what commission chaired by former New Jersey governor Thomas Kean [KANE] and former Indiana Congressman Lee Hamilton?
ANSWER: the 9/11 Commission or National Commission on Terrorist Attacks Upon the United States 

Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
What city was the capital of Japan from 710 to 784 AD, serving as the capital before Kyoto?

ANSWER: Nara or Hejio-Kyo [hay-JEE-oh kyoh]

1B. 
TWO ANSWERS REQUIRED. THIS IS A COMPUTATION QUESTION. Let X, Y and Z be consecutive odd integers, with X less than 50. Name two values of X for which the sum Y plus Z is a perfect square.

ANSWER: any two of 5, 15, 29, 47
2A.
Rickets, a disease that causes soft bones, often leads to a bow-legged appearance. Rickets is caused by a deficiency of what vitamin?

ANSWER: vitamin D
2B.
In Hinduism and New Age belief, there are seven "main" ones. What word describes the energy nodes found in the human body?

ANSWER: chakras

3A.
A mahout [muh-HOOT] sits within a howdah [HOW-duh] when riding -- what type of animal?

ANSWER: elephant
3B.
What U.S. Senator from Virginia, along with Alabama Congressman Henry Steagall, got the Banking Act of 1933 passed and shares a last name with a central Virginia high school?

ANSWER: Carter Glass
4A.
"Saul," "Esther," "Samson," "Belshazzar," and "Solomon" were all oratorios composed by which Baroque master, also responsible for the Royal Fireworks Music?

ANSWER: George Frideric Handel
4B.
In Java, what is the term for a collection of abstract methods and constant identifiers?

ANSWER: interface
5A.
THIS IS A COMPUTATION QUESTION. x equals negative 5 and y equals negative 5. What is this point, represented in polar coordinates (r, theta)?

ANSWER: (5 SQRT(2), 5pi / 4) (five times the square root of two, 5PI over 4) (accept 225 degrees for 5PI / 4, and five-fourths PI for 5PI over 4) 

5B.
In what 1882 short story did author Frank Stockton purposely leave the outcome unfinished so that the readers could decide the ending for themselves?

ANSWER: "The Lady or the Tiger?"
6A.
Identify the short story by Edward Everett Hale from this quick plot: Philip Nolan exiled forever.

ANSWER: “The Man Without a Country”

6B.
Who is the current non-voting delegate to the U.S. House of Representatives from the District of Columbia?

ANSWER: Eleanor Holmes Norton
7A. 
THIS IS A COMPUTATION QUESTION. Consider the Pythagorean-like equation a squared plus b squared plus c squared equals d squared. If b is 6, c is 12 and d squared is 196, what are the possible values of a and d?

ANSWER: d can be -14 or 14, a can be 4 or -4 (196 is 14 squared, and 36 + 144 = 180, leaving 16, which is 4 squared.)

7B.
In Victor Hugo's The Hunchback of Notre Dame, what unholy clergyman lusts after the gypsy Esmeralda?

ANSWER: Claude Frollo
8A. The carbon atoms in sugar created from photosynthesis come from what compound that enters the plant through stomata?

ANSWER: carbon dioxide or CO2
8B.
The Supreme Court case of Chisholm v. Georgia led to the passing of -- what Constitutional Amendment?

ANSWER: Eleventh Amendment

9A.
It is theme to the TV show "One Tree Hill." What song by Gavin DeGraw recently toppled Nelly and Tim McGraw from the top of the singles charts?

ANSWER: "I Don't Wanna Be" 

9B.
THIS IS A COMPUTATION QUESTION. A chemist heated a sample of hydrated salt at 110 degrees C for 30 minutes until all the water was driven off. The sample, which had weighed 250 grams before heating, then weighed 160 grams. By mass, what percent of the original sample was water?

ANSWER: 36% by mass (90 divided by 250)

10A.
Hiram I is probably the most famous king of -- what ancient Phoenician city?

ANSWER: Tyre
10B. THIS IS A COMPUTATION QUESTION. What is the product of the binomials x - 2, 2x + 1 and x + 3?

ANSWER: 2x3 + 3x2 - 11x - 6 [(x - 2) (2x + 1) --> 2x2 + x - 4x - 2 --> 2x2 - 3x - 2. Then multiply (2x2 - 3x - 2) and (x + 3) --> 2x3 - 3x2 - 2x + 6x2 - 9x - 6 --> 2x3 + 3x2 - 11x - 6]

Third period, 15 toss-ups, worth 10 points
1.  A Bronsted-Lowry acid and base differ in their donating or accepting this type of chemical species. Name this particle discovered by Ernest Rutherford that exists in an atomic nucleus along with neutrons?

ANSWER: protons (accept H+ or hydrogen ions or hydronium ions before “Rutherford”, DO NOT prompt on “hydrogen”)

2.  A small portion of this musical composition was used to signal victory at the opening of BBC radio broadcasts during World War II. It premiered in December 1808 to lukewarm reception, partly because the orchestra had rehearsed it only once, but writer E.T.A. Hoffmann praised its new performance in 1810.  Also featured in the Disney film Fantasia 2000, what is this Beethoven symphony that begins with four famous notes?

ANSWER: Beethoven's Fifth Symphony in C minor (accept equivalents) (dot-dot-dot-dash is the Morse code for “V”.)

3.  Although "Hail to the Chief" is usually associated with an appearance by the President of the United States, the poem "Hail to the Chief" is actually part of the long poem The Lady of the Lake, written by what British poet who also wrote such novels as Rob Roy and Ivanhoe?

ANSWER: Sir Walter Scott
4.  It was designed to protect Western settlers who wound up paying higher costs due to land speculation fuelled by widely circulating banknotes. What was this order issued by Andrew Jackson's Treasury Department that stated that only gold and silver would be valid payment for public land, one of the immediate causes of the Panic of 1837?

ANSWER: Specie Circular
5.  Lawyers are recommended by ethical rules to perform at least fifty hours of this type of work a year. What two-word Latin term describes any work a lawyer performs voluntarily and without payment, or "for the good?"

ANSWER: pro bono
6.
This six-chapter book of the Bible was written to address the question of whether Jewish law was binding on Christians. Paul answers with a decisive “no” in -- what Epistle which states that "I have been crucified with Christ, and it is no longer I that live, but Christ living in me?"

ANSWER: the Epistle to the Galatians
7.  Mary I, the daughter of the fifth king with this name, ruled before the sixth and changed the spelling of the royal house to Stuart with a 'u'. What name was shared by six of the last seven rulers of an independent Scotland, the sixth becoming the ruler of England as well in 1603?

ANSWER: James
8.
This member of the Finno-Ugric family was thought for many years to be a Turkic language. Some speakers feel it is related to Hunnish. What is this language that calls itself Magyar and is spoken in Eastern Europe?

ANSWER: Hungarian (accept Magyar before it is read)

9.
It is inclined by about 23.5 degrees with respect to the celestial equator. The orbits of other planets follow near it. The Zodiac lies along what imaginary plane that contains the orbit of the Earth?

ANSWER: ecliptic
10.  The Continental Op, Nick and Nora Charles and Sam Spade are among the characters created by -- what American detective author?

ANSWER: (Samuel) Dashiell Hammett
11.
In Britain, it refers to the distribution of government relief payments to the unemployed. In the U.S., it refers to an American businessman who developed the pineapple business. What is this four-letter word that also is the last name of a Kansas Senator who lost the 1996 Presidential race?

ANSWER: dole
12.  The ultra one of these was invented in the 1920s and allows scientists to determine molecular weights of macromolecules. A washing machine uses one of these to remove the water from the wet clothes. What is this device that in most cases separates substances in a mixture by spinning it very rapidly?

ANSWER: centrifuge
13.  This school's Center for Secure Information Systems proved unable to stop the hacking of its main ID server, as this Virginia university revealed in January that 32,000 names and Social Security numbers of students and staff had been compromised. What is this university in Fairfax, Virginia, whose teams are the Patriots?

ANSWER: George Mason University

14.  THIS IS A COMPUTATION QUESTION. What number is 52% of 516?

ANSWER: 268.32
15.  This city was named for the wife of King George III. It is the second-largest banking center in the country after New York City and is the home of the Bank of America. What is this city, the seat of Mecklenberg County and the largest city in North Carolina?

ANSWER: Charlotte, North Carolina

Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  French playwright Pierre Corneille [COR-nay] wrote a play about him in 1636, but he is far better known for his three-part "Cantar," or "Song" written in medieval Spanish. Who is this 11th century Spanish hero of the Reconquista [ray-koan-KEE-stah]?

ANSWER: El Cid or Rodrigo Diaz de Vivar (accept Le Cid [lih seed] before “far better known.”)

2.  Gregory Goyle and Vincent Crabbe are his none-too-bright friends. He became Seeker for his House team after his father bought seven new Nimbus 2001 brooms. The Sorting Hat didn't even have to touch his head before placing into Slytherin -- what enemy of Harry Potter?

ANSWER: Draco Malfoy (prompt on Malfoy)

3.  Often confused with res ipsa loquitur [rays ihp-suh LOH-kwee-tur], what Latin expression, meaning "at first sight", is used to describe a case that is so strong, it warrants further investigation?

ANSWER: prima facie [PREE-mah FAH-chee]

4.  THIS IS A COMPUTATION QUESTION. In isosceles triangle ABC, the non-congruent, or "vertex", angle is one and a quarter times the sum of the congruent angles.  In degrees, what is the measure of the vertex angle?

ANSWER: 100 degrees (Let x be one of the congruent angles. 5/4 * 2x + 2x = 180 --> 5/2 x + 2x = 180 --> 9/2x = 180 --> 9x = 360 --> x = 40, thus the other angle has to be 100.)

5.
Willy Fowler won a Nobel Prize for confirming this man's idea about the existence of the excited state of carbon 12.  Name this British physicist who is best known for his promotion of the Steady State hypothesis.

ANSWER:  Fred Hoyle
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